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B R T B A m® | 5.48 5.48 5
YhAE
TERET t=16cm m> | 6.00 6.00 6
YA
e t=20cm m’
bV oY )
ERaET t=8cm m’> | 6.00 6.00 6
bV oY )
AT t=12cm m?
bV oY )
BT t=17cm m?
AR RLE As20
&S T t=3cm m?
AR AS13
(REHHE T t=3cm m® | 6.00 6.00 6
7 asy T +Hb m’ | 8.46 8.46 8
7 sy +Hb m’ | 8.46 8.46 8
RISy T Asik m’ | 0.24 0.24
ARy AsH% t 0.56 0.56 1




AERIEE R R

+T REtE
T il #l & HANL i ANME
As
EREEUIIET T t=15cmPL F m | 11.08 11.08 11
As
AR T t=10cmlL | m’
BH 0.28m3
FEMRIR HRA T B+ m’ | 0.06 0.06
[ESTERE R AR BE As20
FzET t=bcm m’
T EE ) HEAKMEASTLS
FEET t=5cm m’
T ELE () AR FEAS20
=T t=5cm m’
i HE(2) FAEERLE AS13
FET t=4cm m? | 7.42 7.42 7
B ALy T +- m’ | 0.06 0.06
7 A0Sy 2 +- m’ | 0.06 0.06
FRALVSY T Asik m’ | 0.22 0.22
ARy AsH¥ t 0.52 0.52 1




TTIHEFHEZ +T

W EENC ) e U RS ST .
(L) (h) (hm)
NO.0+ 0.000 0.00 1.20 — —
NO.0+ 2.000 2.00 1.20 1.20 2.40
TAE FEIR~HE IR A=Y Ho: HAfr
As
LR O T t=15cmLL T 3.0X2+2.0X2 10.00| m
As
EERUET t=4cm 3.0X2.00 6.00 | m2
BH 0.28m3
B EREDA T | 1 3.0 (1.20+0.21) X 2.00 8.46 | m3
BH 0.28m3
B R T A (3.0X(1.20-0.27)- = +4X0.25°2) X 2.00 5.48 | m3
YhiARER
TlE R T t=16cm 6.00 | m2
AL v el
R AT t=8cm 6.00 | m2
AR EAs13
(RS T t=3cm 6.00 | m2
Ay T R 8.46 8.46 | m3
7o ER 8.46 | m3
ARGy T Asi® 6.00X0.04 0.24| m3
AL AsH% 0.24 X2.35 0.56 t
[EEAE ]
As
ShAEYIM T t=15cmPA T 3.27X24+2.27X2 11.08 m
As
Sl T t=3cm 3.27X2.27 7.42| m2
BH 0.28m3
B EED g+ 6.00x0.01 0.06 [ m3
FAEERIE As13
E=hn t=4cm 7.42 7.42| m2
EAs T +ab 0.06 0.06 | m3
R U +w 0.06 | m3
& 2.00 240|304y T AsEl 7.42%0.03 0.22 | m3
Y h= 2 (Lshm)/ XL = 1.20 m RSy Asik 0.22%X2.35 0.52 t




